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1. (4 Pts) Complete and balance the following reactions:

a. _J-HPO(aq) + 5 Ba(OH)(aq) > £ H, O WL + It a3 (’Q C‘j‘)ﬁ» ét‘b’/

b __ HCHOq + _J NaOH@) > Q HhO €/ * /\/“z Co Hy O, Eg)
2. (12 Pts) Determine the pH, pOH, [H'], and [OH'] of each of the following:
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b. A solution that is 2.9 x 10> M in HCI S+&on Aeid
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¢. A solution that contains 1.52 g of HNO; in 575 mL of solution.

/s 5.23”'\’03,} L S = 0,041 M HWC:
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d A solutlon that is prepared by mlxmg 10.0 mL of 0.100 M HBr with 20.0 mL of 0.200 M HCL
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3. (9 Pts) Determine concentration of the excess reactant when 25.0 mL of 0.235 M nitric acid is reacted w1th
14.7 mL of 0.095 M of barium hydroxide. Then determine the pH of the resulting solution.

QHNO 3@t Ba (OH);L@)‘% &,H;LO ¢) + 84(NOJ>L.“7
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